=LPDB

*UXSD 5R]NiDG "5 & 7\J
o
™
=
n
oD
¥l
—
(5]
=
™
7\G] 7\6] 7\6] 7\6]
g $QDIRPLD L KIVIRIRJID FTiRZLHND PJU $QDIRPLD L KVIRIRILD FTiRZIHND PJU 3DUD]VIRIRIID GU 3RGVIDZ\ FKHPIL PJUTDUWND 6DQGUD =DICFIDRQUQH = 5
1 _RIDUVND . DIDUJ\QD =DICFLD RQ UQH _RIDUVND . DIDUJ\QD =DICFLD RQ UQH GZIHUFTHZVN. "DUXV] $ /
%LRIRILD 5 / "5 / % "5 = ‘ ‘
PRIHNXIDUQ
DL 7\G] 7\G]
‘G]E‘QHW\ND 3RGVIDZ\ FKHPL 3IDN 6\iZID =DICFIDRQIQH =5 7/ 3DUDI\IRIRILD GU GZIHUFTHZVNL ~DUXV] $ "5 /
%BEDGU)](U\\QBD 7\6] 7\6] 7\6]
$% 3RGVIDZ\ FKHPILL 3IDN %LRIRILD PRIHNXIDUQD L JHQHINND GU %DQGXUVND - DIDUJ\NQD =DICFLD %LRIRILD PRIHNXIDUQD L JHQHINND GU %DQGXUVND - DIDUJ\NQD =DICFLD
-5 6\ZD $ $ RQUQH =5 RQUQH =5
z =5 / ‘
‘ 7\G] 7\G]
7\¢] 7] )LJIRIRILD FJ4RZIHND GU %HUGRZVND $IQUHVIND =DICFL (NRIRJLD L RFKURQD SUJ\URG\ GU . XiPD
)LIRIRILD F]a’RZ_LHND GU %HUGRZVND JLIRIRID F]a'RZ_LHND GU %HUGRZVND D RQ 0lQH "5 - ORQIND =DICFLD RQ 0lQH "5
$JQHVIND =DICFIDRQIQH * 5 $JIQHVIND =DICFIDRQUQH = 5
/ / 7\6]
=DIC -
nel el 3RGVIDZ\ FKHPLL PJUTDUWND 6DQGUD =DICFID RQ 0IQH 5 /
3DUD]VIRIRIID GU GZIHUFTHZVNL " DUXV] $ = | |%H]SIHFIHE
% 7\C] 7\C] 7\C] 5 / VIZR SUDF\
] %H]SIHF]HE VSRINDQIH ] 3DUD]VIRIR L 7\G] 7\G] 7\G]
x VIZR SUDF\ RSHNXQHP D GU gﬂ{gﬁQRplD $QDIRPLD | (NRIRIID L %IRIRJID
L URNX 3IDN §ZIHIFJHZ KIVIRIRJILD RFKURQD PRIHNXIDU
HUJRQRPLD 6\1ZID $% UNL \G] \G] 7\G] 6\IZID =Dl FIRZIHND SU]\URQG\ I DL Q
3IDN - “DUXV] $ (NRRID L OHIRG\ 3RGVIDZ\ &FLD RQ GU *CEIRN. U *CELFNL JHQHINND
6\IZID =Di 5 = % RFKURQD XFHQID VIC FKHPL GU 5Q &HJDI\ DE &HJDI\ DE Gl
CHDRQ 5 = SUTWRG\ G L B1\UHI 2o %DQGXUND
UIQH 1 VIXGLRZDQL ODJRUIDID| |- "5 / "5 / - DIDUT\QD
5 ODIFKU]DN D UZ Gl $% =DICFLD RQ
=0 %DUEDID $ ODIFKUJDN "5 ] 7\6] WQH -
% %DUEDWD $ : $QDIRPLD L KIVIRIRILD FJiRZIHND PJU 5 /
\G] "5 = % - RIDUYND . DIDUJ\QD =DICFLD RQ U.QH 3V\FKR°‘RJLD RIyID ]
. " T HIHPHQIDPL SVNFKRIRJLL
3DUDIVIRIRILD GU GZLHUFJHZVNL = DUXV] =DICFLD RQ 5 5 / T\ZIHQID *iCERFND 7\G]
lQH =5 7/ & = $LFD $% "5 (NRIRJID L RFKURQD
1 oo SUTWRG\ GU . XiPD
7\G] 7\G] 3VAFKRIRJID RIYIQD ] HIHPHQIDPL ORQIND =DICFLD RQ (LQH
%LRIRJLD PRIHNXIDUQD L JHQHINND GU (NRIRJID L RFKURQD SUT\URG\ GU . XiiPD ORQIND =DICFL SVAFKRIRJLL T\ZIHQLD *iCERFND $IFID = 7\G] °5 7/
9%DQGXUVND . DIDUJ\QD =DICFLD RQ 0lQH DRQUQH =5 / DICFDRQUQH =5  =DU 3RGVIDZ\ FKHPL PJU
"5 / ‘ TDUVND 6DQGUD $ $
7\G] 5 /
ne] . 3RGVIDZ\ FKHPL 3IDN 6\IZID =DICFIDRQUQH =5  /
)LJIRIRILD FJ4RZIHND GU %HUGRZVND $IQUHVIND =DICFL
DRQIQH =5 =




*UXSD 5R]N&DG "5

=LPDB
& 7\J

VRERWD

7\6]

7HFKQRIRJLD LQIRUPDF\IQD (DE -H]XUID

$QQD =DICFDRQIQH = 5

7\6]

HLJRIRID
FIiRZIHND
Gl
%HUGRZVND
$IQHVIND
$%

"5

7\6]

3RGVIDZ\
FKHPL GU
S1\HI
OD:JRUIDID
$%
-5

7\6]

3RGVIDZ\ FKHPLL GU 6]\UHI ODJRUIDID =DICFLD RQ
"5

IQH
7\G]
3DUDTVIRIRID GU GZIHUFJHZVNL = DUXV] $ "5 7
7]
YJIRIRILD FIRZIHND GU %HIGRZVND $IQIHVIND DE -5
7
7\6] 7\6] 7\6]
3V\FKRIRJL 3RGVIDZ\ 3RGVIDZ\
D RIYIOD ] FKHPL PJ FKHPL 31D
HHPHQIDP U TDUVND N6\IZID $
L 6DQGUD $% %
SVAFKRIRJLL 5/
T\ZIHQID * 5/
iCERFND 7]
SUFID $%_ ZHFKQRIRJLD LQIRUPDFNIQD
5 IDE -H]XUD $QQD $
> .20387(52:%
- L2y
7]
7HFKQRIRJID LQIRUPDFNIQD
IDE -HJXUD $QQD $
.20387(52:%
"5 7
7\G]
9RIRJLD PRIHNXIDUQD L JHQHIND GU
7\G] 9%DQGXUVND . DIDUT\QD =DICFLD RQ 1lQH
ZHFKQRIRJL "5 /
D
LQIRUPDF\IQ 7\6]
)D@E)D; ‘5‘] 3VAFKRIRJLD RIYIQD ] HHPHQIDPL
_[“)MCF“%QR SVAFKRIRJLL TNZIHQID *CERFND S$IFID =
= RQ DICFDRQUQH -5 -
LQH
5 /

7\6]

$QDIRPLD L KIVIRIRJLD FJiRZIHND SURI
*I\JXV ,JRU =DICFLD RQ (LQH "5

7\G] 7\G]
HJRIRID HJRIRID
FIiRZIHND FiRZIHND
Gl Gl
%HUGRZVND %HUGRZVND
$IQHVIND $IQHVIND
DE DE

"5 "5
/ /

7\6]

DLJIRIRID FIRZIHND GU %HUGRZVND
$IQHVIND =DICFDRQUQH = 5
/

7\6]
3VAFKRIRJLD RJyIQD ] HHPHQIDPL
SVAFKRIRJLL T\ZLHQID *:CERFND $IFID =
DICFDRQUQH =5  =DU

7\6] 7\6]
S$QDIRPLD L (NRIRJD L
KLVIRIRJILD RFKURQD
FIRZIHND SUT\URG\ G
GU *CELFNL U *CELFNL
&H]D\ DE &H]D\ DE
"5/ "5/
7\6]

3V\FKRIRJLD RIYIQD ]

HIHPHQIDPL SVAFKRIRJLL

T\ZIHQID *:CERFND

$IFID $% "5
- DU

7\6]

7\6] 7\6]
(NRIRID L YH]SIHFTHE
RFKIRQD VIZR SUDF\
SUT\IRG\ G L
v HUJRQRPLD
ODIFKU]DN 3IDN
%DUEDID $ 6\IZID $%
" )
"5 - 5
DU
7\6]
$QDIRPID | 7\6]
KLVIRIRJID 3V\FKRIRJL
FJRZIHND D RJYIQD ]
P HHPHQIDP
- RIDUND L
~DIDUT\QD SVAFKRIRJLL
$% T\ZIHQID >
"5 {CERFND
/ SIFID $%
5

DU

7\G] 7\G]
(NRIRJID L (NRIRJID L
RFKURQD RFKURQD
SUT\URG\ G SUT\URG\ G
U .XiPD U .XiPD
ORQIND $% ORQIND $%
"5 / "5 /
7\G]
9%H]SHFTHE
VIZR SUDF\
L
HUJRQRPLD
3IDN
6\1ZID $%
5
DU

7\G]

$QDIRPLD L KIVIRIRJLD FJiRZIHND SURI
*I\JXV ,JRU =DICFLD RQ (LQH

"5

)LJIRIRIID FIRZIHND GU %HUGRZVND $JIQIHVIND DE
/

7\6]
7HFKQRIRJL
D

LQIRUPDF\IQ
D IDE -H]
XIID $QQD

=DICFID RQ
0QH =

5 7

7\G]

$QDIRPLD L KIVIRIRJLD FJ4RZIHND SURI
*U\JIXV ,JRU =DICFLD RQ (LQH

"5

7\6]

3VAFKRIRJID RIYIQD ] HIHPHQIDPL

SVAFKRIRJLL T\ZLHQID *:CERFND $IFID =
DICFLD RQ (IQH

"5 DU




=LPDB

7\6]
3DUD]\IRIRID GU
GZIHUFTHZVNL *DUXV] =D
ICFDRQUQH = 5 "5

$QDIRPLD L KIVIRIRILD FIRZIHND PJU
_RIDUYND - DIDUT\QD =DICFID RQ (IQH

7\6]

/

7\6]
3VAFKRIRJILD RIYIQD ] HUHPHQWDP[
SY\FKRORJH. T\ZlHQLD *iCERFND $IFID =
DICFLD RQ (LQH "5 DU

7\6]
%H]SIHFTHEVIZR SUDF\ L HIJRQRPLD 31D

7\6]

3VAFKRIRJILD RIYIQD ] HHPHQIDPL
SVAFKRIRJL T\ZIHQD *:CERFND $ILFID =
DICFLD RQ 0lQH "5 - DU

7\6]

%H]SIHFTHEVIZR SUDF\ L HIJRQRPILD 3ID
N 6\0ZID =DICFLD RQ IlQH "5

RQUQH =5

$QQD =DICFLD RQ LQH "5

*UXSD 5R]NiDG "5 & 7\J
7\6] 7\6] 7\6] 7\6]
$QDIRPLD | OHIRG\ %RIRID %RIRID
a) KIVIRIRJLD XFTHQLD VI PRIHNXIDUQ PRIHNXIDUQ
z FJiRZIHND L DL DL
w P VIXGIRZDQL JHQHIAND JHQHINND
& - RIDWND D iz G ol ol
~DIDUJ\QD ODIFKUJDON %DQGXUVND 9%DQGXUVND
% %DUEDID $ -DIDIT\QD _DIDUJ\QD
-5 % =DICFLD RQ =DICFLD RQ
/ "5 IQH - IQH -
& 5 - 5 /
7\G] 7N 7\G] 7\G] 7\G]
3DUDNIRIRILD GU OHIRG\ XFTHQID VIC L 9RIRJLD PRIHNXIDUQD L JHQHIND GU 3RGVIDZ\ FKHPILL 3IDN 6\ZID =DIGFLD 3RGVIDZ\ FKHPL PJUTDWND 6DQGUD
GZUHUFTHZVN. *DUXV] =D VIXGRZDQD GZ GU | (%DQGXWND .DIDUJ\QD =DICFLD RQ LQH RQIH "5 7 =DICFDRQUQH =5 /
ICFDRQUQH = 5 ODIFKUJDN %DUEDUID =DIC | | =5 7 |
- FDRQIQH "5 & | 7] 7\6]
— — 7\G] 3DUDTVIRRILD G $QDIRPID L KIVIRIRILD FIRZIHND PJU . RIDIVND
1 1 _ 9RIRIID PRIHNXIDUQD L JHQHIND GU GZIHUFTHZVN. *DUXV] =D||| .DIDVI\QD =DICFDRQIQH =5 /
(NRIRJID L RFKURQD (NRIRJLD L RFKURQD SUT\URGN GU - XiPD ORQIND =DICFL|  ||%DQGXUVND - DIDUJ\QD =DICFID RQ (1QH ICFDRQUQH = 5
SUT\IRG\ GU ODIFKUJDN DRQUWQH =5 7 "5 = - 7\G]
9%DUEDUD =DICFID RQ (LQH YIRIRILD FIRZIHND GU
5 = 7\6] 7\6] 7\G] %HIGRZVND $IQHVIND =
9RIRJLD PRIHNXIDUQD L JHQHIND GU (NRIRJID L RFKURQD SUT\IRG\ GU . XiiPD (NRIRJID L RFKURQD SUT\IRG\ GU . XiiPD DICFIDRQUQH " 5
7\G] 9%DQGXWND . DIDUJ\QD =DICFLD RQ 1LQH ORQIND =DIGFIDRQUQH " 5 7/ ORQIND =DIGFIDRQUQH " 5 7/ E
9RIRJLD PRIHNXIDUQD L JHQHIND GU "5 /
9%DQGXWND . DIDUJ\QD =DICFLD RQ 11QH 7] 7] 7\6]
5 7/ 7\G] 9RIRIID PRIHNXIDUQD L JHQHIND GU IRRID FIRZIHND G %HIGRZVND (NRIRJID L RFKURQD
— (NRIRJLD L RFKURQD SUT\IRG GU 9%DQGXUVND _ DIDUTNQD =DICFLD RQ 1LQH $JQHVIND =DICFDRQUQH = 5 SUT\RG\ GU . XuPD
1 ODIFKU]DN %DUEDUD =DICFLD RQ 1QH - - / ORQIND =DICFLD RQ 1QH
OHIRGA XFJHQID VIC L VIXGIRZDQID 1Z "5 - 5 7
G ODIFKU]DN %DUEDUD =DICFLD RQ XQH 7\6] 7\6]
A 5 & —l BV\FKRIRJLD RIyIQD ] HHPHQIDPL BV\FKRIRJLD RIyIQD ] HHPHQIDPL
= 9%H]SIHFTHEVIZR SUDF\ L HIJRQRPLD 31D SVAFKRIRJLL T\ZIHQID *CERFND $IFID = SVAFKRIRJLL T\ZIHQID *CERFND $IFID =
T —l N6\iZID =DICFDRQUQH " 5 DICFDRQUQH =5 - DICFIDRQUQH =5  =DU
oy 9%H]SIHFTHEVIZR SUDF\ L HIJRQRPLD 31D U
I N6\iZID =DICFDRQUQH " 5 7] 7\6]
o =Dy 3RGVIDZ\ FKHPL 3IDN 6\1ZLD =DICFID 7HFKQRIRJID LQIRUPDFNIQD IDE -H]XUD

7\6]

$QDIRPLD L KIVIRIRJLD FJiRZIHND PJU
- RIDUND . DIDUJ\QD =DICFLD RQ (LQH
"5 /

7\6]

$QDIRPLD L KIVIRIRJLD FJiRZIHND SURI
*I\JXV ,JRU =DICFLD RQ (LQH "5

7\6]

(NRIRJLD L RFKURQD SUT\URG\ GU - XiiPD ORQIND =DICFLD RQ IL.QH "5

7\6]

LIIRIRILD FIRZIHND GU %HUGRZVND $JIQIHVIND =DICFL

DRQUQH "5 =

7\6]

7\6]

JUJIRIRILD FJRZIHND GU %HUGRZVND

DUIIRIRILD FIRZIHND GU %HUGRZVND
$IQHVIND =DICFDRQUQH = 5
/

N %EUZLD =DICFDRQIUQH  * 5 =ou $IQHVIND =DICFDRQIQH = 5
- 7\G] 4
7] _ 3RGVIDZ\ FKHPLL PJUTDUVND 6DQGUD =DICFLD RQ 0LQH 7\6] 7\6]
3RG/WDZ\ FKHPL 3IDN 6\IZID =DICFLD RQ NQH 5 5 7 3RGVIDZ\ FKHPL GU $QDIRPID L KIVIRIRJD FJ&RZIHND SIRI
6]\ OD:JRUIDID =DICFL *N\JXV ,JRU =DICFDRQ IQH = 5

DRQUQH *5 = -




=LPDB

*UXSD 5R]NiDG "5 & 7\J
7\G] 7\G] 7\G] 7\G]
3VAFKRIRJD RIYIQD ] HHPHQIDPL 3RGVIDZ\ FKHPLL PJU TDUVND 6DQGUD (NRIRJID L RFKURQD SUJ\URG\ GU *CELFNL | | (NRIRJID L RFKURQD SUJ\RG\ GU - XiPD ORQIND =DICFIDRQUQH 5  /
SVAFKRIRJIL T\ZIHQLD *4CERFND $IFID = =DICFDRQUQH =5 / &HJDI\ =DICFIDRQUQH =5 7/
DICFDRQUQH =5 = 7\G]
\G] SQDIRPLD L KIVIRIRILD FIRZIHND GU *CELFNL &H]DU\ =
7\G] $QDIRPLD L KIVIRIRJID FTiRZLHND PJU DICFDRQUQH = 5
(NRIRJLD L RFKURQD SUT\URG\ GU . XiPD _RIDUVND . DIDUJ\QD =DICFLD RQ UQH
ORQND =DICFIDRQIQH "5 7/ 5 / 7\G]
[a) i =DIC
2 nel nel U:[;g'_lswbz_\ ;KHPU: GU 6]\UHI ODJRU]DID =DICFLD RQ
= 7HFKQRIRJLD LQIRUPDFNIQD IDE -H]XUD 7HFKQRIRJLD LQIRUPDFNIQD IDE -H]XUD
@ $QQD =DICFDRQUQH =5 /7 $QQD =DICFDRQUQH "5 /
e
o 7\G] 7\G]
%LRIRILD PRIHNXIDUQD L JHQHINND GU (NRIRJID L RFKURQD
9%DQGXUVND . DIDUJ\QD =DICFLD RQ 0.QH SUT\URG\ GU ODIFKUJDN
"5 / 9%DUEDUD =DICFLD RQ 0lQH
"5 -
7\G]
3RGVIDZ\ FKHPL GU 6]\UHI ODiJRU]DID
=DICFIDRQUQH =5 =




